(1) Tt HLtS SHAIR.
1) 125 + 65 - 89
2) 230 — 148 + 66

(2) Ct2 HAE GHAI2.
1) 75 X 2 = 50
2) 117 + 3 X 13

(38) [__Jorpf Yat2 42 NEOAIR.

1) 50 - 2 X 17 = 50 - =

2) 21 = 3 +19 =

3) 63 X2 - 45 -+ 5 = -

4) 100 + 25 X 3 + 15 =




(5) Tt H& &=ME UEHHLD HAE SHAI2L.

1) (20 = 4) X 18

2) (11 +19) X (56 + 8)

(7) Tt HLANA S B2 HAGHOF ot =20

45 + {52 X (19 + 10)

s 2

(8) Tt & HLA SHA

e

( )
{96 + {24 X (4 = 2)} = 144

(9) CtS H&tS SHAIR.
34 X 5 -{27 +

OHAIE GtAl
2}
Al O OEAIE

{96 + (24 X 4)} =+ 2 = 144

(25 X 2)

10}



